Regular Physics Energy Video Quiz   (A)                         Name _________________________
1.
The swinging dart demonstrated a greater transfer of momentum to the wooden block when: (darken in correct letter) (1)

(a) the dart bounced    (b) the dart stuck    (c) neither of the above  
2.
____________ times ____________ equals change in energy. (2)
3.
If work is done, there is a change in ____________.  (1)
4.
Potential energy is energy of ____________.  (1)
5.
Kinetic energy is energy of ____________.  (1)
6.
Will a cannon ball travel further if shot from a longer cannon? (1) Yes___    No___    Explain (2)
_____________________________________________________________________________________


_____________________________________________________________________________________

7.
How did the force times the distance of pulling a bowling ball to a given height compared to the force times the distance of lifting the ball to the same height? (1) (Darken in the correct letter.)


(a) greater than    (b) less than    (c) the same as

8.
What does the law of the conservation mean? (2)

_____________________________________________________________________________________


_____________________________________________________________________________________

9.
Why would you use a machine to do work? (2)

_____________________________________________________________________________________


_____________________________________________________________________________________

10.
If you changed the force when using a machine, how would the distance over which you applied the force change? (1)


_____________________________________________________________________________________

11.
The equation for finding kinetic energy is KE = _____________  (1)

12.
If a car travels twice as fast, how much further will it travel? (1) ________________________

13.
Car A moves at 60 km/hr. Car B has half the mass of car A and moves at 120 km/hr.


a.
Which car has the more momentum? (1)? (Darken in the correct letter.)



(a) car A     (b) car B     (c) both the same


b.
Which car has more kinetic energy? (1)



(a) car A     (b) car B     (c) both the same

